N = 0l & AF & F Al A

FAN: 2SO

M M2 RE - HE 2(sHLd /=Y - &)
el RNISBAS MADIY E4 (cHel i el)
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
S0 5,031,811 7,516,589 A2,484,778
= 926,064
s 300,000
J| 95,000
& 3,710,747
stte RS - 01HE 2a(sgadsdt/sd - &) 4,952,264 7,434,281 2,482,017
= 926, 064
s 300,000
| 95,000
& 3,631,200
FUSESH=S A8t =4 2,720,864 2,845,591 A124,727
= 818,064
| 95,000
= 1,807,800
d2AFHI(= ) 160,064 203,103 243,039
= 160, 064
403 N XISHHSKH201H 160, 064 203,103 243,039
= 160, 064
01 XXIESHIH2EEX 160,064 203,103 243,039
O3 FHIXA 160,064
- 160,064
ANERNZHEETN D 663,000 814,500 A 151,500
202 Oidl 3,000 4,500 A 1,500
01 =UWobl 3,000 4,500 A 1,500
O ANEJl=HERFA 3,000
403 N XIESHHSAH20IH 660,000 810,000 A 150,000
01 XXX A2EX 660,000 810,000 A 150,000
OFEXNAWHX=H (8 ) 144,000
OAE20sZIHA (3000 2) 225,000
oHldat2A S HSH300S) 270,000
OJAWXNSEL2H X I XA XI& (4000H) 21,000
DX TH A OF S A4 At 335,000 445,000 A110,000
403 XXM EX20IH 335,000 445,000 2110,000
01 XXX A2EE 335,000 445,000 A 110,000




FAN: 2SO

HH: sH8E 28 - IDIE 23 (sllsb/s - s&)
A A

ol FSERES MAD|E X4 (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OLNHIHNL2LAUME=SSH (6IHL) 90,000
O Aol =2l (4,000ha) 245,000
=St ML RS 336,500 64,500 272,000
202 O4Hl 2,000 0 2,000
01 =LHAHI 2,000 0 2,000
O =3 FRFE 2,000
308 NXIHHSOIH 27,000 27,000 0
01 XNXHHMILEXS 27,000 27,000 0
Odt=s=It=ES Mol 2 & (300ha) 27,000
403 XXIEHSA=01H 307,500 37,500 270,000
01 AXIESHX=2E X 307,500 37,500 270,000
ODt==Z M 1 (5ha) 37,500
OSSN H (1291 2) 270,000
raIetx= o 102,500 134,844 A32,344
202 OdHl 2,000 4,344 A2,344
01 =UWobl 2,000 4,344 A2,344
Oelal|etxrd PRFA 2,000
403 XXM SA=01H 100,500 130,500 230,000
01 XXM A2EX 100,500 130,500 230,000
©Ql & & 2 TH i (500ha) 40,500
ORI AL ITH(10ha) 60,000
SXNZWAN D 145,800 129,750 16,050
403 XXIEHSA=01H 145,800 129,750 16,050
01 AXIESHX=2EX 145,800 129,750 16,050
OUSsH=ME8SHZTI|(2500) 16,500
Ot x=HESH(50ha) 67,500
OB A THEHAIE & TH 3t (20 ) 45,000
O Z 2 il & AHXEIH X 2 (280ha) 16,800
AME20HUXOIEE&E3H(=1) 856,000 0 856,000
= 658,000
L= 198,000
403 XXISHMSKHE0IH 856,000 0 856,000




FAN: 2SO

HH: SA2 9 0IE YSH(SHHYLM/SY - &)
ool AUSSHES MAD|Y X4 (S5l &2)
_ _ SIEN
SN HB - SRA(BH) - ME Ao il b o B2
403 XXM SX201H = 658,000
5 198,000
01 XXIESHIH2EEX 856,000 0 856,000
oAWK OIZBEE =5t 856,000
2 658,000
< 198,000
MAALSEUSEH (=) 122,000 136,000 214,000
| 95,000
= 27,000
202 Ofl 1,000 2,000 A1,000
| 1,000
01 SLAHbI 1,000 2,000 A 1,000
OFTAAI ZZI BRI & 1,000
| 1,000
308 XHXIEHHSOIH 4,000 4,000 0
| 4,000
01 XXSHHILAEES 4,000 4,000 0
ODVAMURERR 4,000
Il 4,000
403 XXM EX20IH 117,000 130,000 213,000
| 90,000
= 27,000
01 AXSHX=2EX 117,000 130,000 A 13,000
QIt==MMAAI LA 3 117,000
| 90,000
< 27,000
sSitE s & HES 376,800 1,013,000 A 636,200
SSEMSHZINE 148,800 169,000 220,200
202 O4dl 8,800 9,000 A 200
01 3L 8,800 9,000 A200
OSSA2TZ I 8,800
307 eIztolH 140,000 59,000 19,000
04 QIZ2HHAIE X 140,000 159,000 A 19,000
ORI EHAN(13]) 90,000
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FM 7S
==,

Hal: sM2 RS DAY SH(STHYLM/5Y - 55)
S SN2 RSPE HA CEEED
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
PN EIEEEEES 2,000
403 KRGS KH=0IH 270,000 450,000 180,000
01 XX =2 E 270,000 450,000 180,000
OUXIREME AL (100S) 270,000
SASHSTBHEHEY 303,000 701,100 398,100
202 OiHl 2,000 0 2,000
01 =Lfoid 2,000 0 2,000
ONBHEHRSEEX 2,000
01 YstEAZ 1,000 1,100 A100
10 SAAHISAS 1,000 1,100 A100
ONEHE (EEEE)SINELSY 1,000
306 =013 300,000 700,000 400,000
NIEEE 300,000 700,000 400,000
OREHEIRY 300,000
AHIN RS2 A3 167,500 120,000 47,500
308 XXISASOIH 22,500 75,000 52,500
01 XXSHMBLRES 22,500 75,000 52,500
OEZRHIBE A 22,500
402 QAT0IF 45,000 45,000 0
N EEES 45,000 45,000 0
OSSHESSHSEAB0IE 45,000
403 XHXISHHSKH2O0IH 100,000 0 100,000
01 XXSHTZSE 100,000 0 100,000
OSMSREE AR 100,000
SAHSRENH(2D) 367,500 1,169,920 £802,420
= 300,000
= 67,500
403 KRGS KO0 367,500 1,169,920 £802,420
= 300,000
= 67,500
01 XX =2 E 367,500 1,169,920 802,420
OUXRSHEAE 367,500
2 300,000




FM 7S
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Hal: sM2 RS DAY SH(STHYLM/5Y - 55)
S SN2 RSPE HA CEEED
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 67,500
24sMSHSY(2D) 129,600 7,000 122,600
= 108,000
= 21,600
403 XXESHSKHZO0IH 129,600 7,000 122,600
= 108,000
= 21,600
01 XX =2 E 129,600 7,000 122,600
CNEEE 129,600
2 108,000
= 21,600
AEMAIE EH 615,000 827,670 A212,670
4& N FCteist 238,000 354,670 ~116,670
202 OiHl 3,000 4,670 A1,670
01 =Uhotdl 3,000 4,670 A1,670
O+EIBELARET 3,000
301 YA 10,000 15,000 5,000
07 2I2rel=2l01t| 10,000 15,000 A5,000
OF+BANARSLBABIA 10,000
307 QI2H0IF 70,000 0 70,000
04 QIAHALE 70,000 0 70,000
OB sl & 70,000
308 KXISASOIH 100,000 150,000 A50,000
01 XACSHMBLRES 100,000 150,000 50,000
OsABLESTY) 100,000
402 2I2AXH0IF 55,000 185,000 130,000
01 ANZRLZE 55,000 185,000 130,000
O Al Z B I AR N = 55,000
Sl N] 377,000 398,000 ~21,000
202 OiHl 2,000 8,000 6,000
01 =Ufoid 2,000 8,000 6,000
O+E)|BHARET 2,000
403 KRGS KHZ0IH 375,000 390,000 A 15,000
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375,000

75,000

300,000

390,000

02

79,547

82,308

N2,761

48,287

55,738

AT ,451

48,287

55,738

AT ,451

48,287

55,738

AT,451

2,981,500& x1E ~ 122

40,0003 «1H~12&
20,0002 x3& ~ 128
130,000& »1H 128
2,981,500 *1/30% 11
6,930& +4Al 2tx17L 123

250,000& 18« 128

48,287
35,778
1,200
480
720
1,560
1,094
5,655

3,000

55,738

NT,451

31,260

26,570

4,690

31,260

26,570

4,690

19,540

15,370

4,170

19,540

19,540

15,370

4,170

6,720

7,200

A 480

6,720

6,720

7,200

A 480

5,000

4,000

1,000

OH=D (1),

IHBIL(200H), ZHA(1CH)

5,000

5,000

4,000

1,000




